
 

 

 

 

 

 

 

 

 

 

  

PE8720 Digital Projector  

Ceiling Mounting Guide 

 

 

 

 

 

 

 

 
 

Welcome
Download from Www.Somanuals.com. All Manuals Search And Download.



 

 2  Copyright 

Copyright 
Copyright 2005 by BenQ Corporation. All rights reserved. No part of this publication may be reproduced, transmitted, 

transcribed, stored in a retrieval system or translated into any language or computer language, in any form or by any 

means, electronic, mechanical, magnetic, optical, chemical, manual or otherwise, without the prior written permission of 

this company. 

 

Disclaimer 
BenQ Corporation makes no representations or warranties, either expressed or implied, with respect to the contents 

hereof and specifically disclaims any warranties, merchantability or fitness for any particular purpose. Further, BenQ 

Corporation reserves the right to revise this publication and to make changes from time to time in the contents hereof 

without obligation of this company to notify any person of such revision or changes. 

 

Safety Instructions 
1. Follow the instructions in this guide when installing the projector with this bracket. Improper or inadequate 

installation could cause the projector to fall and cause injures. 

2. Make sure the installation is secure enough to bear the weight of all and withstand vibrations. 

3. Use only the parts provided with the bracket, and any parts (commercially available) that are specified in this guide. 

4. Do not modify the bracket or the parts provided with the bracket. 

5. Do not use damaged parts. If any parts become damaged, contact your dealer. 

6. All bolts and screws must be tightened securely. 

7. Make sure not to block any ventilation openings when installing the projector. 

8. Do not install the projector in a location that is subject to high levels of dust or humidity. 

9. Do not install the projector in a location that is exposed to direct sunlight or in a location that is subject to extreme 

fluctuations in temperature (such as near an air conditioner). 

10. Clean only with a dry cloth. 

11. Special techniques and experience are required when installing the projector with this bracket. It is recommended 

that you contact your dealer to install the projector for you. 

12. Once the projector is installed, safety checks should be conducted on a regular basis. 

 

Table of Contents 

Packing Parts List.....................................................................................................................................................................3 

Projector Installation and Throw Distance Chart..................................................................................................................4 

Installing a Projector with the Ceiling Bracket.......................................................................................................................5 

Adjusting the Ceiling Bracket..................................................................................................................................................8 

Specifications and Diagrams.................................................................................................................................................10 

 

 

 

Download from Www.Somanuals.com. All Manuals Search And Download.



 

 Packing Parts List  3 

Packing Parts List 

 U-PLATE   NUTS x 4   PROJECTOR ADAPTER 

 CEILING ADAPTER  PIPE  M3 SCREWS x 8 

 M4 SCREWS x 4  SQUARE TUBE  M6 SCREWS x 4 

 TUBE  

 

 ADJUSTMENT ASSEMBLY  BOLTS x 7 (TUBE BOLTS x 2, L – ADJUST 

BOLT x 2, TUBE BOLTS x 2) 

Names of Parts 

       
 

U - PLATE 

TUBE BOLTS x 2 

L-ADJUST BOLTS x 2 

TUBE BOLTS x 3 

SQUARE TUBE  

M4 SCREWS x 4  

PROJECTOR ADAPTER  

NUTS x 4

CEILING ADAPTER 

M3 SCREWS x 2 

ADJUSTMENT ASSEMBLY 

M3 SCREWS x 4 

TUBE 

PIPE 

M6 SCREWS x 4 
M3 SCREWS x 2  

Download from Www.Somanuals.com. All Manuals Search And Download.



 

 4  Projector Installation and Throw Distance Chart

Projector Installation and Throw Distance Chart 

Installation for a 16:9 screen 

16:9 (widescreen) ratio screen dimension table

Screen

H
ei

gh
t

Projection Distance
Diagonal

Offset

Ceiling

Center of the lens

Ceiling Installation

Screen

H
ei

gh
t 

Offset
Floor

Center of the lens

Diagonal

Projection Distance

Floor Installation

Screen Dimensions (inch / cm) Projection Distance (inch / cm) Offset (inch / cm)

Diagonal Width Height Min distance 
(with max zoom)

Max distance 
(with min zoom) Upper Lower

50 / 127 44 / 111 25 / 62 78 / 199 106 / 270 2.5 / 6.2 -27.0 / -68.5
60 / 152 52 / 133 29 / 75 94 / 239 128 / 324 2.9 / 7.5 -32.4 / -82.2
70 / 178 61 / 155 34 / 87 110 / 279 149 / 379 3.4 / 8.7 -37.8 / -95.9
80 / 203 70 / 177 39 / 100 126 / 319 171 / 433 3.9 / 10.0 -43.1 / -109.6
90 / 229 78 / 199 44 / 112 141 / 359 192 / 487 4.4 / 11.2 -48.5 / -123.3

100 / 254 87 / 221 49 / 125 156 / 400 213 / 541 4.9 / 12.5 -53.9 / -137.0
110 / 279 96 / 244 54 / 137 172 / 438 234 / 595 5.4 / 13.7 -59.3 / -150.7
120 / 305 105 / 266 59 / 149 188 / 478 256 / 649 5.9 / 14.9 -64.7 / -164.4
130 / 325 113 / 288 64 / 162 204 / 518 277 / 703 6.4 / 16.2 -70.1 / -178.1
140 / 356 122 / 310 69 / 174 220 / 558 298 / 757 6.9 / 17.4 -75.5 / -191.8
150 / 381 131 / 332 74 / 187 235 / 598 319 / 811 7.4 / 18.7 -80.9 / -205.5
160 / 406 139 / 354 78 / 199 251 / 638 341 / 865 7.8 / 19.9 -86.3 / -219.2
170 / 432 148 / 376 83 / 212 267 / 677 362 / 919 8.3 / 21.2 -91.7 / -232.9
180 / 457 157 / 398 88 / 224 282 / 717 383 / 973 8.8 / 22.4 -97.1 / -246.6
190 / 483 166 / 421 93 / 237 298 / 757 405 / 1028 9.3 / 23.7 -102.5 / -260.3
200 / 508 174 / 443 98 / 249 314 / 797 426 / 1082 9.8 / 24.9 -107.9 / -274.0
250 / 635 218 / 553 123 / 311 392 / 996 532 / 1352 12.3 / 31.1 -134.8 / -342.4
300 / 762 261 / 664 147 / 374 471 / 1195 639 / 1622 14.7 / 37.4 -161.8 / -410.9  

Installation for a 4:3 screen 
IInstalstallation for a 4:3 rlation for a 4:3 ratio scro screeneen

4:3 (standar4:3 (standard) r) ratio scrtio screen dimension table:en dimension table:

Screen

Image Height 

Projection Distance

Offset

Ceiling

Center of the lens

Diagonal

CeiliCeiling Ig Inststallalationon

Projection Distance
Floor

Screen
Image Height

Offset

Center of the lens

Diagonal

FlFlooroor I Instalstallationlation

Screen Dimensions (inch / cm) Projection Distance (inch / cm) Offset (inch / cm)

Diagonal Width Height Min distance 
(with max zoom)

Max distance 
(with min zoom)  Upper Lower

50 / 127 40 / 102 30 / 76 72 / 184 98 / 249 3.0 / 7.6 - 33.0 / -83.8
60 / 152 48 / 122 36 / 91 87 / 221 117 / 298 3.6 / 9.1 -39.6 / -100.6
70 / 178 56 / 142 42 / 107 102 / 258 137 / 348 4.2 / 10.7 -46.2 / -117.3
80 / 203 64 / 163 48 / 122 116 / 294 157 / 398 4.8 / 12.2 -52.8 / -134.1
90 / 229 72 / 183 54 / 137 130 / 331 176 / 448 5.4 / 13.7 -59.4 / -150.9
100 / 254 80 / 203 60 / 152 145 / 368 196 / 497 6.0 / 15.2 -66.0 / -167.6
110 / 279 88 / 224 66 / 168 159 / 405 215 / 547 6.6 / 16.8 -72.6 / -184.4
120 / 305 96 / 244 72 / 183 174 / 442 235 / 597 7.2 / 18.3 -79.2 / -201.2
130 / 325 104 / 264 78 / 198 188 / 478 254 / 646 7.8 / 19.8 -85.8 / -217.9
140 / 356 112 / 284 84 / 213 203 / 515 274 / 696 8.4 / 21.3 -92.4 / -234.7
150 / 381 120 / 305 90 / 229 217 / 552 294 / 746 9.0 / 22.9 -99.0 / -251.5
160 / 406 128 / 325 96 / 244 232 / 589 313 / 796 9.6 / 24.4 -105.6 / -268.2
170 / 432 136 / 345 102 / 259 247 / 626 333 / 845 10.2 / 25.9 -112.2 / -285.0
180 / 457 144 / 366 108 / 274 261 / 662 352 / 895 10.8 / 27.4 -118.8 / -301.8
190 / 483 152 / 386 114 / 290 275 / 699 372 / 945 11.4 / 29.0 -125.4 / -318.5
200 / 508 160 / 406 120 / 305 290 / 736 392 / 995 12.0 / 30.5 -132.0 / -335.3
250 / 635 200 / 508 150 / 381  362 / 920 489 / 1243 15.0 / 38.1 -165.0 / -419.1
300 / 762 239 / 610 180 / 457  435 / 1104 587 / 1492 18.0 / 45.7 -198.0 / -502.9  

 There is 3% ~ 5% tolerance among these numbers due to optical component limits. 

* 1 m = 3.28 feet, 1 feet = 0.305 m 

Download from Www.Somanuals.com. All Manuals Search And Download.



 

 Installing a Projector with the Ceiling Bracket  5

Installing a Projector with the Ceiling Bracket 

Overview 
 Diagram of completed installation 

 

 Ceiling Mount Device 

 

Installation Procedure 
Insert the U-PLATE into the CEILING ADAPTER, and tighten two M4 SCREWS (from the bottom) 

into the screw holes. Then attach the top part to the ceiling. 

 

 

 

      

U-PLATE 

CEILING ADAPTER 

M4 SCREWS  

Ceiling mount screws 

(not included) 

STEP A 

Download from Www.Somanuals.com. All Manuals Search And Download.



 

 6  Installing a Projector with the Ceiling Bracket

 

 

Install the TUBE and the U-PLATE with 2 sets of BOLTS & NUTS (TUBE BOLT). 

 
 

Install the PIPE and the TUBE with 2 sets of BOLTS & NUTS (L-ADJUST BOLT). 

 
  

Install the base-assembly. 

 

STEP D1 Combine the SQUARE TUBE and the 

PIPE with 2 BOLTS. 

 
 

 

 

 

STEP D2 Install the ADJUSTMENT ASSEMBLY to the 

SQUARE TUBE with one BOLT and 2 M3 SCREWS. 

 

STEP D 

TUBE BOLTS x 2 

NUTS x 2 

TUBE  

STEP B 

PIPE 

L-ADJUST BOLTS x2 

NUTS x 2 

STEP C 

M3 SCREWS BOLT 

Download from Www.Somanuals.com. All Manuals Search And Download.



 

 Installing a Projector with the Ceiling Bracket  7

 

Assemble the PROJECTOR ADAPTER and PROJECTOR with 4 M6 SCREWS. 

 
 

Slide the projector with adapter into the ceiling assembly and fix the projector with 4 M3 SCREWS. 

 

 

 

                       
 

                             Installation finished. 
 

 

M6 SCREW 

Ceiling mount bracket  

BASE-ASSEMBLY 

STEP F 

STEP E 

M3 SCREW 

Download from Www.Somanuals.com. All Manuals Search And Download.



 

8  Adjusting the Ceiling Bracket 

Adjusting the Ceiling Bracket 

Height Adjustment 
1. Make sure to remove the projector first.  

2. Loosen the nuts securing to the two L-ADJUST BOLTS. 

3. Remove the L-ADJUST BOLTS from the PIPE. 

4. Adjust to the correct position for the height of the screen. The height can be 

adjusted to 309 mm or any value in a range between 639 mm and 849 mm in 

increments of 30 mm. 

5. Insert the L-ADJUST BOLT back into the PIPE, and then re-attach the nuts 

previously removed. 

 

 

 

 

 

 

Maximum Height (non-adjustable) 

 

Minimum Height 
(non-adjustable) 

 

 

 

 

 

 

 

 

 

 

 

 

Download from Www.Somanuals.com. All Manuals Search And Download.



 

 Adjusting the Ceiling Bracket  9

Horizontal Angle Adjustment 
1.  Hold the projector’s right and left sides and push it up slightly. 

2.  Adjust the horizontal angle so that it is correct for the orientation of the screen.  

3.  The swivel angle can be set within a range of negative to positive 30 degrees. 

 

30
        

Vertical Angle Adjustment 
1.  Hold the projector’s right and left sides. 

2.  Adjust the vertical angle so that it is correct for the orientation of the screen. 

3.  The tilt angle can be set in a range between –5 and +30 degrees. 

 

30

   

5

 

Swing Adjustment 
1.  Slightly loosen the M4 SCREW connecting the SQUARE TUBE and ADJUSTMENT ASSEMBLY as shown in the 

picture. 

2.  Adjust the angle so that it is correct for the orientation of the screen. 

3.  Re-tighten the M4 SCREW. 

4.  The swing angle can be set within a range of negative to positive 30 degrees. 

 

      
15 15

M4 SCREW M4 SCREW 

Download from Www.Somanuals.com. All Manuals Search And Download.



 

10   Specifications and Diagrams 

Specifications and Diagrams 

Specifications 

Adjustment Range 

Height 

 Horizontal angle 

Vertical angle 

Swing angle 

 

309 mm, 639 mm, 669 mm, 699 mm, 729 mm, 759 mm, 789 mm, 819 mm and 849 mm. 

–30 to +30 degrees 

-5 to +30 degrees 

-15 to +15 degrees 

Weight 4.2 kg 

Loading 4.5 kg 

     

Diagrams 
 

 Left View  Front view  Right view  Rear view 

 

 

Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com

http://usermanuals.us
http://www.somanuals.com

http://www.4manuals.cc
http://www.manual-lib.com
http://www.404manual.com
http://www.luxmanual.com

http://aubethermostatmanual.com
Golf course search by state

http://golfingnear.com
Email search by domain

http://emailbydomain.com
Auto manuals search

http://auto.somanuals.com
TV manuals search

http://tv.somanuals.com

http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


